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: OPTION -A
(Plant Physiology and Metabolism )
 Paper : BOT-HG-3016/RC-3016
Answer the following as directed :

ot o) B e ¢
1. Choose the correct answer of the following :
(any seven) 1x7=7

o TAIART o% Sewe! A Sfedt ¢ (R
- rebY) ' |

(i) Which of the following forms of water is
‘absorbed by plants ? :

(a) Run away water

(b) Hygroscopic water

‘(c) Capillary water

(d) Al of the above

©FR (TIRY A SRew cEe iR AT
.(a) 315113 @Rt AN

(b) TSl A A

() T AR

(d) €7 IR

(i) What is root pressure ? -

el e
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(iii) Transpiration is a necessary o
(Fill in the blank)

STV (202 B! SATATIN |
(3T 912 739 7))

(iv) What is meant by ‘antitranspirant’ ?
| BRI W & gE e

(v) Who proposed Active K* transport
mechanism for opening and closing of
stomata ? ]

(a) Steward

(b) Sayre

(c) Loyd

(d) Fuyjino

sibifea T AR ©g SIeRpRME?
(a) fBarS

(b) BR

() T

(d) TR

(vi) Name one instrument to measure the
rate of transpiration in plants.
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Tfgre 2rTme 2 G 2[Ry Sz A

(b) PR

foran |

( ..) D. b k » (C) W

vii) Dieback disease is caused due t
deficiency of ; s
(@) - zinc (ix) Vernalization was discovered by
(b) copper (@) . Garner and Allard ‘
(c) boron (b) Lysenko
d) iron )
(d) (c) Kurosawa
RS (@01 [ oo 22 (d) Miller
(@) for< T SR SRl
b - . 5
(b) ¥R (a) NRAR R GHE
(c = (b) FNHF
(d) g () TR

(viii) Mass flow theory of organic solute (@) .
translocation was proposed by '
R () What are thyllakoids ?
(b) Spanner BAPCEIT 52
(c) Munch :

xi) Assimitato owers produced durin
(d) None of the above o photosyntl'I;ZsiI; are g g
| L 5T TS Sf] IR (@) ATP and NADPH;
a) (O : '
: () (b) HQO angi 02
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OPTION-A

(Plant Physiology and Metabolism ) | (iii) Transpiration is'a necessary . _

- Paper : BOT-HG-3016/RC-3016 (Fill in the blank)
Answer the following as directed : . | ST (R 5! TGN l
Ao Rt BT e 3 o (1 31% 77 3)
1. Choose the correct answer of the following : (iv) What is meant by ‘antitranspirant’ ?

(any seven) 1x7=7 ‘ i ;

wete AR w% Geacn! A Sedt s (Rt ‘af oGRS’ M & 3@ A2

- FebY) : ' -

- : (v) Who proposed Active K* tran.sport
()  Which of the following forms of water is ’ mechanism for opening apd closing of

absorbed by plants ? stomata ?
(@) Run away water e - (a) Steward
(b) Hygroscopic water L S (b) Sayre
(c) Capillary water (c) Loyd
(d) All of the above , (d) Fujino
TR (PR AT S o IR SMEe : ST B T RO FHCE I AT
(@) R @RI AT | ' o oipifRa W SR O SeRpIRE ¢
(b) iwe! AR AN o _ @ B
(c) = Al ' (b) TR
(d) "SI IR | ) s
(ii) What is root pressure ? - @) ’fﬁ’ﬂ’

sl 52

(vi) Name one instrument to measure the

rate of transpiration in plants.
3 (Sem-3/CBCS) BOT HG/RC/G = 2 |
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9. ' Write short notes on the following: (any

(c) RuDP and RuMP e four) Ox4=8
(d) CgH12,0¢ and PGAL ' (@) Osmosis :
A AT Tes 2 SR |

¢ < 2 cf 1
s T2z (b) Guttation

c) Chloroplast
(@) ATP =% NADPH, . .

(c RuDP ¥% RuMP
(d) CgHy5,0g W% PGAL

(d) Krantz anatomy

(é) Types of transpiration
() Abscissic -acid. v |
(9) Photosynthetic pigments

(xcii) i;spiratol’y quotient (RQ) is represenfed | (h) Day neutral plants
(@) C/N o oo e 53 Corel et (R oseD)
b) N/O, | | (@) e

. _ , o
(d) C02/02 C, |

o W

AR S (RQ) Te | (d) &< a:;‘j“
(@ C/N ' (e) m ]%E
' (O KR 4
(01 0,/ CO, : (9) m;z::h;% o
(d) CO/ 0, ' ‘ (h) L |
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3. Write short
notes on the following : (any ! 4. Answer any three of the following

three) ‘ - T
: §
(@) Components of water potential 1 oty S
(b) Cgfllets}llon of water and transplratlon e g fofbr e Bed 1 ¢
. s ‘ (@) What are different sources of nitrogen

for higher plants ? Describe the

(c) Photorespiration ‘ ;
(d) Mechanism of T 1 | biological nitrogen fixation. 2+8=10
(e) Auxins | i | Sopasla B @ AR5eeR R Toprz
(f/ Anaerobic respirati } 2 ol “QEC@?“ EUSERRS BR[€d el |
, iration ,
(g) Vernalization : ' | (b) - What is translocatlon of organic solute ?
: : ] Describe the mechanism of
() CAM s ;
translocation of organic solute in plants
N [ERIGIEE] 5 (ORe it ¢ (gt ﬁﬁﬁ‘) | with the help of pressure flow model. .
(@) TERSR ToAmeTz oo T oARAE e DIl 2AE TR RS
’ | ‘i S o W AR ARt 36 w1
( b) 9{@3 W\“ﬂ'\@ O AT 6] WO | .
(c) SRR ; - (¢) Describe different types of factors
@) : : : : : : affecting the photosynthesis.
GISi3NS iRy :
ey | AR Ao el o e
() M , ‘- PIRTIE 30 T ,

‘ Y O : : v : '~ (d) What is photosynthesis ? Give a
(g) TG N Jetailed account of cyclic and non-cyclic
(h) CAM 4 electron transport in photosynthes1s

: 2+4+4 10
- 3(Sem-3/CBCS) BOT HG/RC/G 8 | ' |
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‘(g)

()
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AR 52 AGAFRETIR 57 ==

| & 3 HAfRER R TR B

Describe the chemical process of EMP
pathway. Write about net product of
EMP pathway. 8+2=10

EMP I IR eaie) 3 31 S EMP
YelleTia Yo Teswas Rac |

Give a detailed account of the Krebs
cycle. Mention its significance.

| (@ 5o e Riesel Tl | 3319 Wi Bra

(4t |

What is ph‘otoperiddism ? Discuss how
‘the plants are classified on the basis of
photoperiodism. - 2+8=10

'WWW%9WWHFMG3T

TR evite [T IR Themmms fve
ca%qwmwm 1 |

What is plant growth regulator ?
Discuss the physiological role of
Gibberellins in plants.

B 9 e o s R i
SRR ST 3541 |

seven)

OPTION-B
( Environmental Biotechnology)
Paper : BOT-HG-3026

Answer the following as directed : (any

1x7=7

Wm@ﬁm@m%@aﬁm (Rewtet
rebY)

(@) - Which one of the following is not a

(b)

(c)
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natural pollutant ?
() SO,

o L0

(ii)) CO;

| (iv) Pesticides

WWWWW
(i) SO,

. e

(iii) COy

(iv) FoAE

‘What is the full form of DDT ?
DDT 3 = A% 2

In which year the UNESCO launch’ed
the ‘Man and Biosphere Programme’ ?
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UNESCO % (@F 3 W7 o (SRaes (9) ngnosulfonates are released from

‘W’ el TR 2 _ industry. (Fill in the blank)

(d) Minamata disease caused due to ; bR T U o1 =11 fAefe =
pollution. (Rl in the blank) < (=T 91 73 )
fRsG! Catal AR AR | (h) What is ozone ?

iy (31T 312 979 70) ' o'

(e) Write two names of bacterial : (i) Which one of the following is a unit of
biofertilizers. : radioactivity ?
twmﬁsmwwzﬁa@@ﬁmm -~ () ppm
foral | ; ‘ (ii) curie

(i) decibel

(/ Which one of the following is a .
(iv) nanometer

xenobiotic compound ?

(i) Polychlorinated bipheriyls . fcsre GRIRTD! coufETel ﬂ@?
(i) Peroxyacetyl nitrate : (i) Teifoaw | |
(i) Chlorofluorocarbon - . i () I
(iv) Ultraviolet» ray ; : il oBEE
I e @R EaRDS A = |
i (iv) QORI
() AFEREwe W ' () Where is Chilika lake s1tuated i
(i) oAbz EE ' - ' @ Size Bl ov SRFe?
(i) TR | (k) Write the full form of WTO.
(iv) SfeweT IRy ' . WTO = =il A
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() Which one of the followmg is a Ramsar i

site 24

(i) Kaziranga National Park
(i) Majulee River Island

(iii) Deepor Beel

(iv) Brahmaputra River

Reare R ZW T ZH RO czm%r
i) ifemel 2B T

(i) ST FAE

i) Mo R

(iv) FE@ T

. . Write short answers : (any four) 2x4=8 -

wfs vt e i ¢ (e bifaor)

(a) Advantages and disadvantageé of
aerobic ponds.

wq@a%ﬂmﬁ—fwwv@@—w o7l |

(b) What is radionuclides ? Give one

example.

@erfieRe R 3R o5 e fora|

(c) What do you mean by bioconcentration ?

[esspniiaU RO ICRER Gk
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(d)

(e)

(9)

feran

. SEe) I S ()b‘li)?{ﬂWﬁi‘im

Write a note on biomining.

e R ¢ (ol femall |

Write a very short note on Brundtland

Report.
ForeTed A AR wfe vt @b O

Principies of Forest Conservation Act,
1972.

Silent Valley Movement.
Tiea Terorl STHIE |

' (h)' Xylanases

e

Write notes on any three of the following :

5x3=15

feae R b @R O Bl ¢

(@) Global environmehtal problems

Rl o{fRC TR FFETPPR

(b) Upflow anaerobic sludge blanket
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oive oz AR fr f TResIR A

(c) Rollle of nitrogenous compounds in air
pollution
1 B s & R gor T S el GRS
| bl o ok o TR SIS v oz oD R AR A AR
| ) 1.*10k11ng filter 2 = |
| Gofer fredig
| : p) What are pollutants ? Describe the fate
, (e) Corporate social responsibility () &f diffefent pollutants in the
| : PR TRl environment. 2+8=10
() Salient features of Kyoto Protocol, 1997 S 2 sifere [ifon a3 afs @
TG e (Son) T 24 WRBPZ ot e
(g) Constitution of C :
Pollution Control‘Bc()eerllrgsa I and State (c) Describe the Montreal Protocol (1987).
@R % AT - How does it differ from recommendations
i e e wAfamE srow of Rio-Earth Sumit-UNCED (1992).
| o _ 7+3=10
u | ) Treatmer.lt scheme of waste water of et &6 (b’bVQ)ﬁﬂ%HWlﬁW’WQfﬁ 7
i tannedy idhsiry UNCED (s»p2) 3 #RPHRAR TS T
) R T Afes AR wifRei e R #iek e |
[
4. Answer any three of the following : (d) What do you mean by su§tainable
! Rz fofsy ; development ? Describe the impact of
& oo g foral 2 sustainable development on gross
; i tivi d lity of life.
(@) What is greenhouse- effect ? Describe R comalE o ) qua 1%38——410
the possible environmental effects of .
gIObal warming. Write briefly how BESRR i%l_ i I [ o 2 T2 TP TR
greenhouse effect can be minimized. T T < TR TAred evTo
2+5+3=10 mﬂwmﬁﬁwm{@ﬁﬁﬁm -
“Contd.
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(h) Write an essay on National
Environmental Policy, 2006.

AT AR TS, 000 THCE b To Bt |

(e) What are xenobiotic compounds ? How
does xenobiotic compound affect the
livi'ng organisms ? Give suggestive
measures to mitigate this problem
through bioremediation. 2+3+5=10

Wmﬂm%?mmmzfm

() Write a descriptive note on Water
Pollution (Prevention and Control) Act,
1981.

oA Al (efferaiy e fEEe) iz, sabs
AYCH 91 [ge Gt foran |

| (g) Describe briefly the role and

participation of - ‘wamen ' = in

environmental issues in India.

- OROS AR SRR TS e o

| | o[ - | o |
‘ ' SIRIART AICH G 1 3[4 | _ . .
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